

a, b を実数とし $\alpha = a+bi, \beta = a-bi$ とする。

$$\left(\frac{a+a+c^2}{3}, \frac{b-b}{3}\right) = (0,0) \neq 1 \quad a = -\frac{1}{2}c^2$$

$$x^2 + (3-2c)x + c^2 + 5 = \left(x + \frac{1}{2}c^2 - bi\right)\left(x + \frac{1}{2}c^2 + bi\right) = x^2 + c^2x + \frac{1}{4}c^4 + b^2$$

$$3-2c = c^2 \neq 1 \quad c^2 + 2c - 3 = 0 \quad (c+3)(c-1) = 0 \quad c = -3, 1$$

(1) $c = -3$ のとき $4 = \frac{81}{4} + b^2$, b を満たす b は存在しないから不適

(2) $c = 1$ のとき $6 = \frac{1}{4} + b^2$, $b^2 = \frac{23}{4}$, $b = \pm \frac{\sqrt{23}}{2}$

以上より $c = 1$